Al#E12)

= MR £ fEFT FILI7RER| 7 LI7RUERE)| FAYIRY HFAZ Y FHY1-A |[BREKGOML)| B7FEK(1S5L) | #MILY TRIRIILYG | 504V T9T Y | BRI -5t
1| #padE T & P #04991-5 30 22 18
2]EEMRENKIEEREE | AKIF12034K 100 20 88 70 250 270 331 72 10 108 18
3IRIGHRE - B2 2— |iKIA6530 50 37 29 84 110 24 36 18
4T —F RIF1219-7 36 38 30 50
5| I 5 — R 4% K% 7070 11 11 9 60
6| IS = th =24k KEHEB3120 9 9 7 60
TR = h 2R ZA 23401 9 60
8|8 I 55 PO e 4% T&Jdk—THSs-10 7 60
9| IBF/NFAR K I%8759 11 11 9 60
10[JRIGTE/NEAR JEIE5011 11 11 9 60
11PN ENER +TAMm=TH16-36 9 40
12| RN/ NERR T &ARBTET B9857 9 40
13| BE/NERR AM1177-13 9 40
14| HI/NEEAR Wl Rr—TH-10 9 40
15| KHE/NERR AH598-2 9 40
16K I = FF4RX T EARBT =T H9928-1 8 7 6 60
17| B F R #)111603-1 8 7 6 60
5 326 20 250 193 334 1000 441 96 10 144 36




